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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

Read the passage given below and answer the questions (1 - 5) that follow, based on
your understanding of the passage :

Northwards Indian cultural influence spread through Central Asia to China.
Faint and weak contact between China and India was probably made in Mauryan
times, if not before, but only when, some 2,000 years ago, the Han Empire began to
drive its frontiers towards the Caspian did India and China really meet. Unlike South-
East Asia, China did not assimilate Indian ideas in every aspect of her culture, but the
whole of the Far East is in India’s debt for Buddhism, which helped to mould the
distinctive civilizations of China, Korea, Japan and Tibet.

As well as her special gifts to Asia, India has conferred many practical blessings
on the world at large; notably rice, cotton, the sugar cane, many spices, the domestic
fowl, the game of chess and, most important of all, the decimal system of numeral
notation, the invention of an unknown Indian mathematician early in the Christian
era. The extent of the spiritual influence of India on the ancient West is much disputed.
The heterodox Jewish sect of the Essenes, which probably influenced early Christianity,
followed monastic practices in some respects similar to those of Buddhism. Parallels
may be traced between a few passages in the New Testament and the Pali scriptures.
Similarities between the teachings of western philosophers and mystics from Pythagoras
to Plotinus and those of the Upanisads have frequently been noticed. None of these
similarities, however, is close enough to give certainty, especially as we have no evidence
that any classical writer had a deep knowledge of Indian religion. We can only say
that there was always some contact between the Hellenic world and India, mediated
first by the Achaemenid Empire, then by that of the Seleucids, and finally, under the
Romans, by the traders of the Indian ocean. Christianity began to spread at the time
when this contact was closest. We know that Indian ascetics occasionally visited the
West, and that there was a colony of Indian merchants at Alexandria. The possibility
of Indian influence on Neo-platonism and early Christianity cannot be ruled out.

1.  Which country did not assimilate Indian ideas in every aspect ?
(A) South-East Asia (B) Tibet
(C) Japan (D) China

2. How the Indian cultural influence spread to the China ?
(A) through Central Asia to China (B) during Mauryan times
(C) through Buddhism (D) due to Han empire
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The Jewish sect of the Essenes had borrowed from India :
(A) the decimal system in maths (B) the chess game
(C) the food-grains (D) the monastic system

How the Indian influence penetrated in the Western World ?
(A) Through contact between Hellenic World and India
(B) By Indian monks

(C) By Indian traders

(D) By Itinerants

The Romans finally were influenced by India :
(A) through monks (B) through traders
(C) through Itinerants (D) through teachers

Which one of the following prehistoric sites has provided evidence for cultivation of
Wild and Sown variety of Paddy :

(A) Belan (B) Bagor (C) Adamgarh (D) Burzahom

What is the main achievement of the Neolithic revolution ?
(A) Animal husbandry (B) Agriculture
(C) Nomadic life (D) Painting

Consider the following statements :
(1) In Rig Vedic time the King was the absolute monarch.
(2) Feudalism originated during the Rig Vedic period.

(3) Purohita was the foremost among the functionaries of the King during the Rig
Vedic time.

Which of the statements given above is/are correct ?
(A) (1) and (2) (B) (2) and (3)
(©) (1) 2) and (3) (D) (3 only

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The concept of middle path in Buddhism is to destroy all pains in
human’s life.

Reason (R) : It ends the extreme views.
In the context of the above two statements which one of the following is correct ?
(A) (A) is true, but (R) is false
B) (R) is true, but (A) is false
) Both (A) and (R) are true
D) Both (A) and (R) are false
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10.

11.

12.

13.

14.

What was upavasatha (uposatha) in Buddhist order ?

(A) Itwas an act of general confession of Buddhist monks when they assembled every
fortnight on the evenings of full and new moons

(B) It was the vow taken by the newly admitted monks
(C) It was staying in the Viharas during rains

(D) It was an act of fasting by the monks as punishment

Who got excavated the rock-cut caves on Nagarjuni hills ?
(A) Chandragupta Maurya (B) Ashoka
(C) Dasharatha (D) Samprati

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Under Ashoka Mauryan monarchy had taken the shape of military
despotism.

Reason (R) : Rock Edicts of Ashoka show him as remarking - “All men are my
children”

In the context of the above two statements which one of the following is correct ?
(A) (A) is correct, but (R) is wrong  (B) Both (A) and (R) are correct
(C) (A)is wrong, but (R) is correct (D) Both (A) and (R) are wrong

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Some Yavanas (Greeks) were converted to Vaishnava faith during
the reign of the Sungas.

Reason (R) : Bhagavata erected a Garuda pillar at Besnagar.

In the context of the above two statements which one of the following is correct ?
(A) (A) is correct, but (R) is wrong

B) Both (A) and (R) are correct, but (R) is not the correct explanation of (A)
(A) is wrong, but (R) is correct

Both (A) and (R) are wrong

The earliest Hindu temple is carved at :
(A) Sonkha (B) Aihole
(C) Deogarh (D) Vidisha
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15. Hiuen Tsang visited Kanchi during the rule of which one of the following rulers of
Pallava dynasty ?

(A) Mahendra Varman - I (B) Paramesvara Varman - I

(C) Narasimha Varman - I (D) Narasimha Varman - II

16. Match List I with List II and choose your answer from the codes given below :
List I List 11

(Inscriptions) (Rulers)

(a) Bilahari Stone Inscription (i) Yasodharman
(b) Mehrauli Pillar Inscription (i) Kharavela
() Mandsaur Pillar Inscription (i) Yuvarajadeva
(d) Hathigumpha Inscription (iv) Chandra
Codes :

(@ @ () @
(A) (v) @) () @
(B) @@ @) @ (v)
© @ Gv) @) ()
(D) (@) @v) @& ()

17. Match List I with List II and select the correct answer from the codes given below :

List 1 List 11
(Authors) (Works)
(a) Bharavi @ Buddha charita
(b) Ashvaghosha (i) Kiratarjuniyam
() Varahamihira (iii) Rajatarangini
(d) Kalhana (iv) Brihatsambhita
Codes
(@ @ (o @
(A) @ @) (@v) (i)
(B) @@ @ (@v) (i)
(€ (@) @v) @@ @
(D) (v) @) @ ()



- g
- fadta

(B)
(D)

-1I

(Ter)

(iv) JeEfed

(i)

P.T.O.

- 9YH

TWAE ¥ Yoold qSia 9l o Feifend forger s st § kil <1 9o fopan ?
TEll-1 &I get-11 § gafaa ST iR = 53 T fe | o709 W 61 =997 Hi

(A) HEEIHA - JUH

(©

15.
16.

(d)
(i)

(iv)
(i)
(i)
(d)
(iii)
(iii)

- o o o _— o o o O

N ~— ~— ' ~— N — ~— ~—  ~—

-1
(@ )
qRfa
STTEY
ERUG RIS
FHeaul
a) (b
i)

i) (@
iii)
iv)

N ~—~ ~—~ ~—~ ~~—~ N ~—~ ~—~ ~—~ ~—~

TAR-1 1 GAR-11 § FAfaa Hie i1 = a8 ™ Fe | 98t W 1 =997 Hi

17.

D —-0607



18.

19.

20.

21.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The Cholas followed the Pallava traditions in temple construction.

Reason (R) : They built a number of monolithic temples throughout their kingdom
following the Pallava style.

In the context of the above two statements, which one of the following is correct ?
Codes :

(A) (A) is correct, but (R) is wrong  (B) Both (A) and (R) are correct

(C) (A)is wrong, but (R) is correct (D) Both (A) and (R) are wrong

Match List I with List II and select the correct answer from the codes given below :
List 1 List II
(Period)

i) 1110 — 1155 A.D.

ii) 1165 — 1169 A.D.

iii) 1094 — 1143 A.D.

iv) 1015 — 1041 A.D.

a) Prithviraja II

b) Jayasimha Siddharaja
c¢) Govindachandra

d) Gangeyadeva

Codes :

(A) (v) @) @ @)
(B) @) () G @)
(© G) @) @ )
(D) (v) @) @) @)

Dhoyi was the court poet of which one of the following rulers of the Sena dynasty of
Bengal ?

(A) Hemantasena (B) Vijayasena

(C) Vallalasena (D) Lakshmanasena

Who among the following organized the Chishti Silsilah in Bengal ?
(A) Shaikh Hamid-ud-din (B) Shaikh Qutub-ud-din Munawwar
(C) Shaikh Siraj-ud-din Usman (D) Shaikh Shah Wilayat
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18. 9 T g fd T €, TH T HAT (A) Fel T § SR T HI HNT (R) :
HAT (A) : TR T § =iell 7 oot WausTi o1 T{ER fohar |
HIUT (R) : 3B Toard el 1 ST T U T T H Tk TheH Tl o o
foram
ST S Tl & Ged § frfafaa B | o w1 w82
%< :
(A) (A) T T, T (R) TTed B
(B) (A) @M (R) T ¥l €|
() (A) T T, T (R) T 2
(D) (A) 3T (R) S TTord 1
19. Ge-1 1 Geli-11 § gafaa Sife qen 99 o T fe 9 9§ 98 I & =999 i
eli-1 -1 (T )
(a) YRS fgdta () 1110-1155 3.
(b) <EfdE fagus (i) 1165-1169 3.
() Tifa<== (iii) 1094-1143 3.
(d) TERE (iv) 1015-1041 3.
g
(@ (b)) (© (@)
(A) (v) () (@) (i)
B) @ (@) @) ()
© G @) @ ()
(D) (v) (@) @) @)
20. SRR, S % 99 a3 iR fhe wmee i Tstenfa o ?
(A) TH<EA (B) fosmEm
(C) STcaTTerEd (D) AAEHUEA
21. T ¥ 9 formm smar o faedt foataen gafea foran?
(A) WG BHIGEN (B) ¥ FII-S-TM FFoR
(C) @ Fae-35-<H &M (D) 3" R faemd
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22.

23.

24.

25.

26.

Consider the following group of Bhakti saints who flourished at different points of time
in various parts of the country :

(i) The Varkari saints of Maharashtra

(i) The Virashaiva saints of Karnataka

(iiiy The Alwars and Nayanars of the Tamil country
(iv) The Dadupanthis of Rajasthan

Which of the following sequence is chronologically correct ?

(A) @) @) @) @Gv)
(B) @) @ G Gv)
(© ) @v) @ @)
(D) @) @) @ G)

Mifta-ul-futuh composed by Amir Khusrav describes :
(A) The meeting between Bughra Khan and Kaikubad

(B) The military campaigns of Jalal-ud-din Khalji
(C) The conquest of Gujrat by Ala-ud-din Khalji
(D) The military campaigns during the reigns of Mubarak Shah

Under which Sultan of Delhi the Mongol threat in the North-west reached at its
threatening climax ?

(A) Balban (B) Jalaluddin Khalji
(©) Alauddin Khalji (D) Muhammad bin Tughluq

Who among the following described Delhi as the largest city in the entire
‘Islamic East’ ?

(A) Alberuni (B) Amir Khusrav
(C) Ibn Battuta (D) Shms Siraj Afif

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : From the very beginning of the Bahmani kingdom the foreigners
wielded considerable influence in the politics of the kingdom.

Reason (R) : Bahman Shah did not trust the Deccanis.

In the context of the above two statements, which one of the following is correct ?
Codes :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true, but (R) is false
(D) (R) is true, but (A) is false
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22.

23.

24.

25.

26.

<o % fafis vl qen s ¥ |iwa vgE wfe-gdl & feafate anf w faem i)
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(A) (@) @) (i) (iv)

(B) (i) (@)
© () @v) @)
(D) (i) ()
3R gl gN fafaa fad-3a-5qe avf et ©
(A) R G TE FFee Hl e

(B) WaA-33-< faarst & dfen s

(C) Ael-33—3IF figetsit sl Ted fas™
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(A) ST (B) oHR G
(C) T S (D) o TS ST

o & T fed T ¥ | U R RAT (A) FET T T 3R T H H/AT (R) ¢

HAT (A) : TSHUN T & YRTW T9F 9 2 facimi o1 7 &t TSI | sty gvme ol
SRIUT (R) : SEHUT W@ ol @A T favard =t ol

ST Teel & Hed § frafafad § 9 & @1 9 2

(A) (A) T (R) IF T T, IR (A), (R) FT T& == |

(B) (A) W (R) I Wl §, W (R), (A) F! W =& & 2|

Q) (A) 9@ g, afer (R) Tord T

(D) (R) W& &, ©fehd (A) 7o T
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27.

28.

29.

30.

Which of the following foreigners, who visited Vijayanagara, have described Sahgamana
(sati) ?

1) Nicolo Conti
2) Domingo Paes

3) Fernao Nuniz
4)  Varthema

Codes

(A) (2) and (4)

(B) (1) and (3)
(©) (1), (2) and (4)
(D) (2) and (3)

The Portuguese captured Goa from the Sultan of Bijapur in :
(A) 1496 (B) 1510 (C) 1524 (D) 1558

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Akbar proclaimed Dahsala in the twenty-fourth year of his reign
(1579).

Reason (R) : He decided to abolish the practice of annual measurement of land.
In the context of the above two statements, which one of the following is correct ?
codes :

(A) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A) is true, but (R) is false

(D) (R) is true, but (A) is false

Which of the following works deal with music ?
(1) Man-kutuhal

(2) Tuhfat-ul Hind

(3) Madhavanala-Kamkandala

(4) Kitab-i Nauras

Codes :

A @O, @, B
® @O, 6), ¢4
© @, 4, @4
O @O, @, 4
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27.

28.

29.

30.

TSR &1 30 A ol fefafed faefiml § 9 fea e (Fdt) o1 foero fean 22

ISR o o™ | Yermierdl + e i fhe | 5 12
(A) 1496 (B) 1510 (C) 1524 (D) 1558

o & o fed T E | TH I RAT (A) FHE T B 3R T B H/IT (R) ¢
HAT (A) : 3THeR A 3T AEA o Add ¥ (1579) H @M bl o foha |
HITUT (R) : ST 4 1 WG JHTEST 6t 9 H THH T 1 i foran |

SR el o Hed §, frAfafea # @ om @1 9 72

(A) (A) T& (R) I && € 3R (R), (A) T T2 =A@ T

(B) (A) W (R) TFI WEl T, TG (R), (A) I Tl AT Tl T

Q) (A) T& &, afer (R) Tord T

(D) (R) T& T, AfFA (A) Tord T

Trefafed dei o M 9 U a9 el ©
(1) 9 $Hed
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31. Match List I with List II and select the correct answer from the codes given below :

List I List 11
(Monuments) (Builders)
(a) Atala Masjid (i) Al Adil Shah
(b) Bara Sona Masjid (i) Ibrahim Shah Sharqi
(c) Gol Gumbaz (iii) Nusrat Shah
(d) Charminar (iv) Muhammad Quli Qutub Shah
Codes
(@ ® (o (@)
(A) @) (D) (@) @)
(B) (i) @) (@) @
© @@ @) @ @)
(D) @) @) @ @)

32.  Which of the following manuscripts were illustrated during Akbar’s time ?

(1) The Diwan-i-Amir Hasan Dihilavi
(2) The Raj Kunwar

(3) The Tutinama

(4) The Yoga Vashishta

Codes :

(A) (1), (2) and (3)
(B) (3) and (4)
(©) (@) and (2)

(D) (), () and (4)

33.  Which of the following was not a Mughul coin ?
(A) Muzaffari (B) Mubhar
(C) Anna (D) Do Dami

D -—-0607 16
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(iv) HEHS Fefl Hgareme
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TeHt-1 I Feit-11 § Gaferd wifse qen = i3 T8 §2 9 98 3T & =991 HIN
(W )
(a) 3TeTel HiEST]

31.
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e
(D) Q-Tm

(B)

17

EaM-T TR T8 <gardl!
2, (3= 4

Frfafea qgfafal § & ffg o1 AT, 3Thsk & il | ol T8 2
CSIE]

=1 5 § o 1 foamt Tl o e o ?

(A) HSTER

(D)
(©
D —0607
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34. Match List I with List II and select the correct answer from the codes given below :

List 1 List 11
(Term) (Meaning)
(a) Sair-hasil Jagir (i) Permanent revenue assignment
(b) Pai baqi (i) Measured area figures
(c) Al-tamgah (i) Most paying jagir
(d) Arazi (iv) Land reserved for allotment in jagir
Codes
(@ (b)) () (@
(A) Gv) (@) @) ()
(B) @) @Gv) @ (@)
© @) @) @ )
(D) Gv) () (D) ()

35. Which of the following is not correctly matched ?

(A) Treaty of Purandar — 1664 AD.
(B) Reimposition of Jaziya — 1679 AD.
(C) Conquest of Golconda — 1686 A.D.
(D) Capture and execution of Shambhaji — 1689 A.D.

36. Who founded the Hindu college of Calcutta in 1817 ?
(A) David Hare (B) William Jones
(C) H.T. Princep (D) Henry Vivian Derozio

37. Under the ‘Guarantee System’ the British companies investing in railways were assured
a guaranteed dividend of :

(A) 3% (B) 5% (C) 8% (D) 10%

38. The Famine commission in 1880 was set up by the Government of India under :
(A) H.T. Princep (B) H.H. Wilson
(C) Sir John Strachey (D) Sir John McPherson

39. Maulana Abdul Bari belonged to the :
(A) Aligarh School (B) Deoband Madarsa
(C) Firangi Mahal (D) Nadwat-ul-ulema
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34.

35.

36.

37.

38.

39.

TeHt-1 Sl Geit-11 | gaferd s den = i3 T e | o797 W A1 =91 Hi

-1 qE-11
(v1T) (3tef)
(a) WRREME ST () Tl TS SeH
(b) TR (i) R gE A SRS
(c) TeIqH (ili) ATTeR 3™ ATl SRR
(d) IS (iv) SIPRH < & fore gufara i
g
(@ @B (©© @
(A) @(v) @) @ (i)
(B) (i) (@v) @ (i)
© @@ @) @ ()
(D) (v) @) @) @)
frefafea § 9 oF @ gafad 728 ©72
(A) T I Y - 1664 (B) IS sl S&N &FET - 1679
(C) Tiaiguel fas@ - 1686 (D) TSI kT SIGTeRdol TE oY - 1689

g i Y, 1817 H TUAT shetehal H fohdA 1 ?
(A) 2fae TR B) fafermm s=a
(C) Tw=d = (D) & fafaem Sufs=n

TR g’ ok S1eie S feIfew srafa Yot O ow il S SAREnad i okt orel feRan
q1

(A) 3% (B) 5% (C) 8% (D) 10%

1880 H YA TR 1 3TahTel TN (WA HHIRM) 1 TS fordeh 270 foram o .

(A) T3 T (B) Ta.T=. faeud
(C) TS Tl (D) TR S HehwtE
TICTHT STegal IRt Sl T4 T

(A) oTENTE e (B) QIE< HHI (C) TrEht wea (D) “Teaqge Sl
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40. Who drafted the address presented to Lord Minto in October 1906 at Shimla led by the

Aga Khan ?
(A) Aga Khan (B)
(C©) M.A. Jinnah (D)

41. Eka movement was started by the :

42. Which aspect of Indian Society have been highlighted by Prem Chand in his novel

Peasants of Hardoi and Barabanki etc.,
Revolutionary terrorists in Bengal
Workers in South India

Zamindars of Oudh

Nirmala ?

Syed Husain Bilgrami

Mohisun-ul-Mulk

Class conflict between landlords and peasants

Dowry and marriage of young girl with an old widower

The problem of middle class life and prostitution in society

Racial discrimination by Europeans

43. The first session of All India Kisan Sabha was presided by :

(A)

(©

44. The Indian National Congress passed a resolution on the Fundamental Rights at its :

N.G. Ranga (B)

Sahjanand Saraswati (D)

Lucknow Session, 1916
Madras Session, 1927
Lahore Session, 1929

Karachi Session, 1931

20

Narendra Dev

Raghva Das



40. 3N @M & gcd | AT 97 fohem foran on S etsR 1906 H oire fi=e1 =l fmen # yxqa foran

T ?
(A) M @A (B) ¥R g8 farcumht
(C) TAT fo=n (D) wifeqde qooh

41. T I ol IRE e o
(A) TEE AR IREH s & fmam 3
(B) ST % HIIhRI ARG
(C) <faqur R & gfigeni A
(D) 2T9Y &% SHMSRI 3

42, YA U % R Uge] 1 IR ¥ 3T U e B Yifed TR €
(A) EHA SR Fuehi <k HET o Hee
(B) T Fagadt & I faeR & Wy faare oIk <« & I |
(C) Wema & S iR W § =M dvargia Swe & 9 |
(D) Rl g/ &1 942 o 9N H

43. 3IEd YRAE fHaM Q1 & oW ATEYE it 3Teerdn foan o :
(A) TASH Tm (B) = <d

(C) WBSIH=< |l (D) e 9

44. R TSR SIUE 7 o AfERl & IR F Teh J&are a9 R o1
(A) TETS AfYeRH, 1916
(B) W=\ 3if¥ered, 1927
(C) WRR AferEeH, 1929
(D) = SAfYereH, 1931
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45.

46.

47.

48.

49.

50.

Match the personalities in the List I with the cases in List II and select the correct
answer from the codes given below :

List I List II
(Personality) (Case)
(a) Ashfaqullah Khan (i) Lahore conspiracy case
(b) Prafulla Chaki (i) Kakori case
(c) Sukhdev (iii) Chittagong Armoury case
(d) Ganesh Ghosh (iv) Bomb assault in Muzaffarpur in 1908
Codes
(@ ((b) (o (@
(A) @) @ G Gv)
B) @) (@) (@v) (i)
(© @) (@v) @) ()
(D) Gv) (@) @) ()
The theory of ‘General Will" was propounded by :
(A) Montesquieu (B) Karl Marx
(C) Rousseau (D) Voltaire

Who wrote the book entitled ‘Imperialism is the Highest Stage of Capitalism” ?
(A) Karl Marx (B) V.I. Lenin
(C) J.V. Stalin (D) Rosa Luxemburg

Which country could not develop into a nation state in the sixteenth century ?
(A) France (B) Great Britain
(C) Italy (D) Spain

Apartheid policy was followed by :
(A) Great Britain (B) France
(C) South Africa (D) United States of America

Renaissance paintings known as the ‘Last supper’ and ‘Mona Lisa” were the famous
works of :

(A) Fra Lippo Lippi (B) Leonardo da Vinci
(C) Michel Angelo (D) Raphael
-00o0-
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45.

46.

47.

48.

49.

50.

Tei-1 ¥ T v safomil ol gei-11 5 QU T weas o6l | gafad ot 921 S o1 i fu e
e H I HIVC

-1 -1
( =TT ) (FT)
(a) STRITFIERSCAl GH (i) R yEI= Hd
(b) Ul =Th (i) RN WG
) g&d (i) oM A
(d)  TTOrST =Y (iv) 1908 % HSTFRIYL oH HIUS
e :
(@ (b)) (© @)
(A) @) (@) G (iv)
(B) @) (i) (v) (i)
Q @@ @Gv) @ ()
(D) (@v) (i) @G) @
g 3=’ W fagr il foRen afaarfed foen ?
(A) HieER (B) et AT (C) =& (D) dTASR
‘iR 39 €. SRR WS ST hiuedesd’ A & Y& foher fomar ?
(A) hrel AT (B) dl.3TE. wif
(C) w.&. wifem (D) ST ST
A < HieTed! IR | Teh T 69 o &9 § & forehfad & §eh1 ?
(A) W (B) U foea (C) el (D) ¥
TN (IR U1Ee) ifd v STaamn o ?
(A) e foem (B) Wi
(C) =feor TRt (D) IR g STHRH

AT STt forsi fore ‘o IR’ &iR | foron’ A & <1 STt § Ui, et o off

(A) I fored foodt (B) fermret 71 faweht
(C) TR Tl (D) THEA
-00o0-
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